E=58L1A% EH=M0&bt

ItHEHFRE®BRE  D62-7001

7,

st
<

X

(G N Z = = = S P
[ % 3% R : S IS (R .
—u 2 ! L & T f"’ EE *n_\,\@ Fo % r:‘: SR ﬂ/l V ? = XxXVVVV — AZH="7HC0CK),13H (K)
B & OB I = 0 ® B E L & Box o PRos=RI R FigHRBE= 8 H (&), 180 (1)
=] 5 =] 5 =) N AX 18 (2 Z= A
T ®F B B ® 2 ® ® 32 : i E Tomow O Thamekps by V3 AOHBA (RED
%_ x Ff e FF £ %*U 9 B = = = (AW L o ¥ 2 L - (D) % 120 4 13 2 Z i =
%m% e Lh 2 EBE If %% ?E? wZ B ¥ 5 B 5T A F p oA S EHR A A A N 73}5}0)1*5’95 (HENED b
_ - = = - % 5 -3§ ! 5 < e 8$§7¥§ ggg % 2 ?éﬁ KE£A=4HH). 6 HGK). 8 H (%)
K= o@m N ® = M s @ 15 HLemneEE vy HAAAT .
c = e , B & 5% /M EER503 7 EHMHBECGD BHER
i N @ O R LEESR 18 : 30 ~ 21 : 00)
m  ® B X R @ & 5 5 @ 3 K= ER meT T e
____________________________________________________________________________ 5 B 8 BB |E & t B #%|&B=&S
. P . ? {:g " Q }@ Eq_‘ R AT — 1| & f*']%ﬁ/??f«ﬂ?'):‘yﬁ 69 —5300
AOEHFEH EH00ASHTESCNET I TS M e T B F s ey pn.
%1 B3 BREEREAAIRCLS 8 aow B Al AN S NNV 2 g t‘iibf'j,‘]*;‘i)—‘yz 68~ 2700
7 ™ T AR LTy ¥ H 2 ZE = —
@A 35906 A OABD LETA s ] | (T Taa CERiA®) - F* 0 A 2 0w 175 p ’ =k Glx X B RE R o501
b =M =S 5 mEB O BY . B 14 i R & & -
2 16,830 A (35A30) [ 23000 ] KiE24E2 H12HEEH s M0 B ® X% Bk % " % i E b<” % % ié % i 6 | 7k | ERMBERRAIZHER | 78—3161
Z 19,166 A (35 A5 [144A (8 \i)] R.RB. .08, A 7 BE Hog S £ 230 H £ Loz B 7| K| - 2 & Fi|s2—
! » ‘W wh xrEhr-sgxlbely = R M 8223
HE 15AL0A]  8EA 36 A[1A] A T T ¥ 8 69t il Dz o n Tz ;}% L 8 | &£ [t # H M R & B | 62—7001
FEE TIALOA]  ERH 50A[9A) =% =g P2 3 ;% Br By B T |0k | ECAERAMER| 630105
RS 14,4444 (31HE4) [160fH4] S~ B £ 3 T cENT L o/ B R K F|62-1146
KU g S BAMEAR, ( )IEAA L te D03 i i e ik B pUB[REREZU=v2 e
_________________________________________ B Y By £ 12|k | R [E PBT|62—2882
/ ’ R LR EEEEEEEEEEELEE T 13| 7k | B ESWEKEFEERR | 62— 1400
MeBENBERPE e E SErPER TN BDE T
RY A ’ . / < 14 * g E.l 91‘ 4 ES -
B & E - %" P FE M E B '.Jj BB FSKEE 2 Brzrsn B ® ?E}@? 15| & f:BBWﬂ;'J:Eva :2_;3;
BREg#8xYYASIE, 7P+ g 7F rgﬁc%ggﬁwéﬁz%z 2}3‘%@@ ? 6| £ |8 B B Be|62-1155
= //—\ — it — S =y W —n = _ = 2= 7% ) = _
gggiéﬂg%g%*%?%g%g%?gggggggézgg @ B B 3A24p0 ) 10:15~14:30 (2££9:00~) 1;: ?észmiﬁgzz_zzzl
G < BIE {HA(1FHE600F) /U L —(1F—L4)800 ol k% /R 2 &7
80 86 74 64 84 83 84 96 80 88 84 90 90 94 84 82 71 82 83 93 98 73 65 40 71 56 86 (F X K N R = R B & PN 72-4501
BRERRRBERRBRER BB RRBRRERRRERARE g . S 00k | BB Y = v 7 |63-0515
T oo oo R R 7+ BHARARR 3 H17TH(H) X T 21| K |f {Z %2 & Fr|82—23
S T # LB H# RS E2MWENRABES AL ESETRAES H O ERRADE =
Il e 5 Y F e mmm $I%TEE [(BAEE) sIkiER (U L —EH] 22| & | ERRRRRE)IZHR | 78— 3161
R CRERRAENS G ERBOT LRSS D LRSI G ES > B bRy 7 (Gem) E=hiFy £ b= (100m) BIL | DALT Y=Y g 607109
,-\ --------------------------------------------------------------------------------------------------------- B /@#z (25-50-100-200m) 71— L —(100m) 24| B | B)IE 5 W #E B | 62— 1400
Nl Sl N BaET K ENMES A RBBRBED KRS = s % (95.50- ) e 25| 1% R K Fj62-1146
. O ﬁE grg 3 e B R - B 7K 50-100m) ARL—=UL—(100m) 26 | X 1E':77FE=E1!E)\*4EB% 63—01
1 1% % R e & + [ B A ;" /\ e AT R g B % R 1t 2osllollilin) ZAlY b —(100m) 27|k | BE R : E B 62—28:3):
s Y g BE 1)) 1 F,25k 5y 38BKRKR=IEE _ Y =-h & INZ 754 (25:50:100m) [LyVT—2 3] 28| & |2 |¥]’;¢ B = B2 |62—1101
- D 1?;EE £ S ITHZTZTIBFTTF—BYITABFRBI - fAA* KL —(25:100-200m)  25m¥ v hSvia 29 | & B B K Br|e2—
»X Bnal T :: iziziriEEREE GG —
0B 177262 EE! oS XX s 22222 roRRER R XEABEOIY U—(d, 3EEETELET 0| £ [dE Bk B % R # B | 62— 7001
8 593 3 79 88 68 99 86 86 88 80 53 85 86 100 85 104 60 = 3B | REAEIVZ=v Y 697311
4 1 3 ll"—“ﬁ ,‘,‘“—E ,‘I‘—‘\'E 5 5 = = = = : : : : : : . : s Nmaj_)btd'@%”ﬁﬁ@%*i/\’v A -
R AEBEBEEEEAEEAREEEEREE SR U HERRADD, TR R L—= 7)) — AEFI VEROMRLBLOBEROERERT 5% T,
2 42 1 FRESRSMRA LT A LBLS AN TEEHA, TRBEBRTLETACHNEBENL T LIRS oA TRNSRELT S REN. B
El E o = SR iﬁjz SR u_] s 71( R ° u/ﬂ\: i
g \ i T R B VAZELTOERA. E - BROBRIHH
EST BB FTBm FHagbH)EES EIR JekEHRY )L 862-5001 b6f$ﬁﬁ(:§§|§«%§ﬁ%§?§£§%?géL\o

27 | IEsEEHE- 2013, 3. 1
REEAHERE 2013. 3. 1|26



